Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session (Revised Key)

Q1. Fa-Hien was the first monk to travel to India.

A. Japanese B. Mongolian

C. Chinese D. Tibetan

Q1. FT-RITT R Y ATAT FI ATl gl faveg am

A. STaTAT B. FaMforeT

C. =y D. fassqr

Q2. Martyr's day is celebrated in India on every year.
A. 5t September B. 14t February
C. 21t June D. 30t January
Q2. #R A g Raw & | Y HAATIT SATT B

A. 5 RaFsR B. 14 Wa{r

C. 213 D. 30 Sfeadl

Q3. The river that does NOT drain into the Bay of Bengal is

A. Krishna B. Mahanadi
C. Kaveri D. Narmada
Q3. e dr WrE F AT Pt areht w1 gl

A. o B. HAgTeTor

C. Faly D. #¥ier

Q4. Which one of the following GST rates is INCORRECT?

A. 28 B. 16
C. 18 D. 12
Q4. farafaf@a # ¥ i @ Sh.vw. &, & 7aa §?

A. 28 B. 16
C. 18 D. 12
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Q5. Banabhatta was in the court of King Harshvardhana.
A. Court poet B. Minister

C. Commander D. Royal Preceptor

Q5. FUTsE T g¥ate & GRER A |

A. YT i B. &A1

C. =gt D. T

Q6. Who was the first Chief Minister of Haryana?

A. Chaudhary Devi Lal B. Shri Arjun Singh Gurjar
C. Shri Bhagwat Dayal Sharma D. Sir Chotu Ram

Q6. AT F guIT HEIHA FieT 4?2

A. Tterdy T ofrel B. & 35l g o

C. A sAreTad ATl AT D. W B A

Q7. The Tomb of Ibrahim Lodhi is situated in

A. Pinjore B. Gurugram
C. Rewari D. Panipat
Q7. a1fed Wl 1 s # feua B

A. T B. Ireams

C. Yarsr D. uiId

Q8. Who amongst the following opposed the concept of Pakistan and formed a separate
group in the Punjab Assembly before Independence?

A. Munshi Kishan Azad B. Sir Chotu Ram

C. Allama Mohammed Igbal D. Chaudhary Shyam Lal

Q8. TadAdT ¥ Ugd Yoid Rurewer &, Rrafaf@a & ¥ Fua nifheara Y srauron &1 [y fFar sl o sreer
WHE &1 TS fHar?

A. 73 foreret 31rsiie B. T BIg A

C. 37edTHT HIgFHAC, ShaTol D. aiedy 23 ot
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Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
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Q9. Haryana cabinet recently approved extension of metro rail from Delhi to

A. Panchkula B. Hisar

C. Rewari D. Sonipat

Q9. gR= ARHSH A e & A et & TF AN F Rrar A A 3 21
A. Fagell B. fgaX

C. Yarsr D. Gisfad

Q10. How many sportspersons get the Bhim Award every year in Haryana?

A. Two B. Eight

C. Eleven D. Five

Q10. gR3ToN # & AT fraar Benf3at F ooy EwR Arerar 2

A.ar g, 9IS

C. TURE D. 9=

Q1i1. is called the Millenium city of Haryana.

A. Faridabad B. Rewari

C. Noida D. Gurugram
Q11. 1 RO &1 FAARNIH AT FeT 1T T

A. BTG B. Yarsr

C. drusr D. I&aTH

Q12. has been appointed as the new Attorney General.
A. Soli Sorabjee B. G.E. Vahanvati
C. Mukul Rohatgi D. K.K. Venugopal
Q12. Y YT A e g fram aram B

A. |rely ERTeSi B. Si1.3. argsiadr

C. #Fe Mgl D. &.%. qupaidrel
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Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session (Revised Key)

Q13. Who is the sponsor of the Chaudhary Devi Lal Outstanding All India Coordinated
Research Project (AICRP) award?

A. Food Safety and Standards Authority of India B. National Horticulture Board

C. Indian Council of Agricultural Research D. National Cooperative Development Corporation

Q13. Therdy &t AT IeFver I/ Ry wAfPaT IrqauTeT IRASAT (T.HE. IR R.) [EFR FT IS Hiet
1

A. R @i & 3R Alelsh Jriereor B. IS SETETT &S
C. #RAT FY HeTHUTT IRYE D. TSET TgahRT faere ferer

Q14. Which of these was launched in Haryana to highlight the role of women in Swachh
Bharat Mission?

A. Swachh Shakti Saptah B. Nari Shakti Saptah
C. Nari Mukti Saptah D. Nari Svasthiya Saptah

Q14. Taes R AT # Afganst A AT W g ST F AT FRATOT F g ¥ Rrwehr yeITa H 7S A2
A. TaTo Afad dedg B. AR erferd Acdg

C. 7Y HfFT Feare D. AR AL e

Q15. Who is popularly known as 'Kalidas of Haryana'?

A. Pt. Neki Ram B. Surender Sharma
C. Deep Chand Bahman D. Chauranginath
Q15. e dhr R & "gRITON T FIfE FEd §?

A. ufsd T TH B. gig oA

C. QU de SgAa D. diaferey

Q16. What is the prize amount of Mahakavi Surdas Samman award given by the Haryana
Sahitya Academy?

A. 5 lakh B. 1.50 lakh
C. 2.50 lakh D. 1 lakh
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Q16. RN wifeew e FART AT AT FETHA YT WEA FT [EHR AR 747 82
A. 5 aEg B. 1.50 @&

C. 2.50 or@ D.1em™@

Q17. The book, "Vastrabhushan Aur Haryanvi Lokgeet" is written by

A. Dr. Veenamani B. Madhu Kant

C. Madan Gopal Shastri D. Dr. Deepika Rani
Q17. I¥d®, "FEAm{yor AR gRmorE dFAa " F dww gl

A. 3t it B. #Y Hid

C. HesT el amEs D. ST e Tl

Q18. Who amongst the following is a renowned poet and folklore artist of Haryana?

A. Dayachand Mayna B. Hemraj Nirmam
C. Babu Balmukund D. Mohan Chopra
Q18. fAFfaf@a # ¥ Fia, eI & e g 7 it AwNa FaeR &2
A. EITEE AT B. gFUST AdH

C. 91 STl Foe D. Higel =usT

Q19. Which amongst the following rivers rise from the Morni hills?

A. Indori B. Dohan

C. Tangri D. Krishnawati
Q19. AR TgIfzal ¥ Arafaf@a & @ sl d@t 7 Awed &2

A. S=aRY B. glgaT

C. TEY D. Feomadr

Q20. Which is the biggest lake of Haryana?
A. Sukhna Lake B. Surajkund

C. Brahma Sarovar D. Damdama lake

September 15, 2017
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Q20. RN H T 7@ e Fler W@ §2

A. ggaT Sirel

C. AT WX

B. {xigs

D. GHGHT 3ot

Q21. Where is National Dairy Research Institute (NDRI) located in Haryana?

A. Ambala

C. Rohtak
Q21. gRITON F TEAT 3T IHTHUTT FEATT (T HR.IHTE. ) Fel 82

B. Karnal

D. Hisar

A. 3iaTeT B. &eTel

C. Ugds D. fgar

Q22. river separates Uttar Pradesh from Haryana.
A. Kaveri B. Narmada

C. Ganga D. Yamuna

Q22. TEY IeaT waer I gRATOM & 3re9T FIAT B

A. Fad B. @#iar

C. 9 D. IHAT

Q23. Match the following and mark the correct option.

Column | {Vegetable)

Column Il {Production Area)

A | Potato I Karnal

B | Onion ! Kurukshetra
C | Cauliflower ]! Sonipat

D | Tomato v Gurgaon

A. A-II, B-1,C-1II, D-IV

C. A-,

B-1V,C-II, D- III

September 15, 2017

B. A-II, B-1V,C-III, D-I
D. A-1V, B-III,C-I, D-II
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Department, Haryana)
Evening Session (Revised Key)

Q23. fArafaf@a &1 e #¥ 3R T RFew W A Jonw)

FAFT | (Fea) e |l (3e9e &9)
A | 3oL I AT
B | = Il | Feai=
C | perairsdt Il | |dag
D |eArx IV | I59ma
A. A-11, B-I,C-III, D-1V B. A-1I, B-1V,C-III, D-I
C. A-1, B-1V,C-1I, D- III D. A-1V, B-III,C-I, D-II

Q24. What is the official term of the Governor's office?

A. 2 years B. 5 years
C. 10 years D. 3 years
Q24. TSI & 9g FT IMARTRE Frdwrer fFaa a¥ &1 g\ar 2?2

A. 238 B. 5ay
C.10a¥ D. 3 ay

Q25. Who amongst the following can call the joint sessions of two houses of Parliament?
A. Speaker of Rajya Sabha B. Speaker of Lok Sabha

C. Prime Minister of India D. President of India
Q25. PFfAfAa # ¥ Fi, THE & & el & HIF T ol T §?
A. TSI THT 37ET&T B. Wlieh TT 37eT8T

C. IRT & qUTAaAT D. $IRA & Irsgafd
Q26. Which amongst the following is the second tier of Panchayati Raj?

A. Gram Panchayat B. Zila Panchayat
C. Village Panchayat D. Panchayat Samiti
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Q26. faFafafaa & & wla, Farad U F7 g@EU TR 8?

A. ITH T=IIT

B. fSrerm g=mad

C. [ vara D. arIa fafa

Q27. The Kalesar National Park of Haryana is famous for

A. monkeys B. birds

C. tigers D. black Buck
Q27. gRATUN FT FIAE TSET 3G ¥ faw yfdg 21

A. ST B. &l

C. 9™ D. el fgXoT
Q28. Faridabad is the biggest city of Haryana and North India.
A. Agricultural B. Industrial

C. Cattle Rearing D. Rice Producing
Q28. wigraTe FRATOM 3R 3eat W T 7ad a37 AT B

A. FY B. 3ffezfarn

C. [ aTeret D. &1 3cdTesh

Q29. Which among the following districts is known for its furnishing fabrics and carpets?

A. Panipat B. Rewari

C. Ambala D. Mewat

Q29. farafaf@a # & #lar ar e, 3r9ar eneieR Fush 3R Freliat & forw weg §2
A. Trefad B. Yarsr

C. 3rFarel D. #ard
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Q30. Pick the odd one out:

Cow, Goat, Dog, Calf
A. Cow B. Dog
C. Goat D. Calf

Q30. 3HWId FT TqT HI:

A, IR, Fedl, T30
A. I B. el

C. g D. §@3r

Q31. Find the analogy.

TRAP : VPCN :: MIKE : ?
A. ACHJ B. AJCN
C. ENCF D. OGMC

Q31. WA g&|

TRAP: VPCN:: MIKE :?
A. ACHJ B. AJCN
C. ENCF D. OGMC

Q32. Find the missing number:

6, 10, 24, ?, 185

A. 59 B. 64
C. 81 D. 129
Q32. Fuftyd H&AT AT F:

6, 10, 24, ?, 185

A. 59 B. 64
C.81 D. 129
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Q33. In a certain code, if A is coded as 1, B is coded as 2 and so on, then FADE is coded as:
A. 2135 B. 6145
C. 6234 D. 5462

Q33. IR vF FT aw A, IR A F 1 AT S &, B FY 2 @ rar @, 31 5@ avE 7€ w9 goar War g, ar
FADE &\ a1 for@r sirean?

A. 2135 B. 6145
C. 6234 D. 5462

Q34. (30)2 - (20)2 + (2)5 =

A. 256 B. 345
C. 467 D. 532
Q34. (30)2 - (20)2 + (2)5 =

A. 256 B. 345
C. 467 D. 532

Q35. If P(A) = 0.23, P(B) = 0.18 and P(AN B )
A. 0.29
C.0.19

0.12, find P(A U B).
0.32
. 0.46

o w

Q35. Ifd P(A) = 0.23, P(B) = 0.18 3iR P(ANB ) = 0.12 g df P(A U B) &I A ATl

A. 0.29 B. 0.32
C.0.19 D. 0.46

Q36. 7 is what percent of 91000?
A. 110% B. 120%
C. 130% D. 140%

Q36. 7, 91000 FT frd=T yfaerd &2

A. 110% B. 120%
C. 130% D. 140%
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Q37. Amit buys 10 kg of cashewnuts at Rs.890 per kg and sells it at Rs.1900 per kg. Find

the profit earned by him.
A. 9800
C. 11890

B. 10100
D. 12450

Q37. 3fAa 890 FuA ufer Rreitamar #Y g & 10 Rreliama F1of ligar &, 3R 37 1900 T ufy e AT &

AT 31 3WF gaRT AT W87 FT qar S|

A. 9800 B. 10100

C. 11890 D. 12450

Q38. is the synonym of "FERVOUR".

A. Truth B. Clarity of thought

C. Forcefulness

D. Passion, enthusiasm

Q39. is the antonym of "ATTENTIVE".

A. Careful
C. Distracted

Q40. Identify the meaning of the idiom.

"Blessing in disguise."
A. A hidden sacred symbol

C. A "go-ahead" from a holy person

B. Caring

D. Focused

B. Something good that is not recognized at first

D. Understand the meaning of a dream

Q41. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"Last week, the Government issues warnings of the cyclone.”

A. Last week, the Government issued warnings
about the cyclone.

C. Last week, the Government was issuing
warnings about the cyclone.

September 15, 2017

B. The Government last week issued warnings of
the cyclone.

D. Last week, the Government made warnings
about the cyclone.
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Q42. Complete the sentence by choosing the correct form of the verb given in brackets.

Rahul (like) to eat out every day.

A. liked B. likes

C. is like D. like

Q43. An example of vector quantity is

A. Volume B. Acceleration

C. Temperature D. Mass

Q43. afeer Tf¥Y &1 v 3ameor §1

A. IA™IdT B. cayor

C. d9qATT D. gcgHTT

Q44. The electrons in the outermost shell of an atom are called electrons.
A. Valence B. Bonding

C. Atomic D. Stable

Q44. TF WA ¥ HaH aTedt BN # FHlog sl gAFCIT FeT AT ¢
A. de | B. Sifegar

C. wafas D. T&&d

Q45. Which one of these gases is not a greenhouse gas?

A. Carbon dioxide B. Methane
C. Chlorofluorocarbons D. Oxygen
Q45. 3d ¥ Fi W 3T v Mererzw Ay A @2

A. FTE 3TS TFATSS B. #rdeT

C. FARIFeRIRTeIT D. 3ifrerstel
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Q46. A% e FT ITIAN 2reg T |

g

A. 3

C. o1

Q47. [AF arsg 1 Al (faaer) 3 sarsd |

9

A. g
C.9#H

Q48. Y e FygTaY #1 370w e Fa |

3 &l At | STl
A. TS TF T FHT HATg AT

C. §7elT ¥ah el STl

Q49. I fard a1 F1 agada Fard |

YolT

LN

A. T[T
C. @l

Qso.mﬁmamﬁagaaaaaﬁ|

3

-]

A. ol

N

C. fiar

9

September 15, 2017

B. qRT

D. Ry

B. favmer
D. &g

B. e 1 1 3 3r<oT &1 ST df G 1 Thel Bl &
D. IreId FIH Feh 3T glel T GWTaT FHTAT

B. @

9

D. @Y

Y
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Q51. Securities premium will be shown in Balance Sheet under the head of

A. Miscellaneous expenses B. Reserves & Surplus
C. Loans & advances D. Current Assets

Q51. wfasgferat & N Fr gorer-o7 & ot & deer gerram sre |
A. [afay =g B. WR&TT Uq fady

C. %uT ud 3w D. =Tef yREdfeear

Q52. Error relating to fundamental aspect is:

A. error of principle B. error of commission
C. error of compensating D. error of omission
Q52. U3 Yo & FafdaT AR T :

A. Targid #r 3fe B. d#IRIeT &1 e

C. gfaqRor #r e D. §[el-geh 1 I

Q53. Profit or loss on revaluation is shared by old partners in

A. old profit sharing ratio B. new profit sharing ratio
C. sacrificing ratio D. gaining ratio

Q53. YeedIEe IX AT AT 81l F WA FBERI gaRT __ F qier Jrar ¢ |

A. Qe o187 fAeTSTet Jreqared B. =T TeT fqeiTatet Jrequred
C. TIITquT 3fequre D. afetr 3rqard

Q54. Selection of accounting policies appropriation is not based on

A. Prudence B. Amount involved
C. Substance over form D. Materiality

Q54. AT Rfew wTaaw__ wWamuRa adiaar ¥ |

A. faas B. enfder iR

C. gede ey w D. #ilfashea
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Q55. If the closing stock is increased by 6000 and gross profit ratio by 10%, then the gross
profit will:

A. Increase by 6000 B. Increase by 600

C. Increase by 10% D. No change

Q55. 3w FiF F 6000 TF TGHAT IATAT & 3 TH 1T IHTUTT B 10% T TGHAT ATAT §, AT Wehel a1
A. 6000 T S B. 600 T ¢l
C. 10% de& g&9m D. Fis gRadsT &l gl9m

Q56. The credit balance in the ledger account shows -
A. revenue or an asset B. expense or an asset

C. expense or a liability D. revenue or a liability
Q56. WA & STAT AY SATAT & -
A. TrerEg a1 aiEafea B. =¥ a1 yR&ufea

C. &I a1 &gar D. J=ET IT &IT

Q57. Cost of goods sold is Rs.10,000, opening stock is Rs.2,000 and closing stock is Rs.
3,000. Find the cost of purchase.

A. Rs.10,000 B. Rs.11,000
C. Rs.15,000 D. Rs.9,000

Q57. 32 T AT FY AT 5.10,000 &, TRAF €iF ¥.2,000 ¥ 317 317 €&F 7.3,000 ¥ FI ) d01G 9419
A. %.10,000 B. %.11,000
C. %.15,000 D. %.9,000

Q58. Cost of goods sold is Rs.80,700 ; opening stock is Rs.5,800 ; closing stock is Rs.6,000 ;
then the cost of purchases is Rs.

A. 80,500 B. 74,900
C. 74,700 D. 80,900

September 15, 2017 Page 15 of 28



Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Evening Session (Revised Key)

Q58. X AT ATl T aFIT T. 80,700 § ; TRIAF T+ §. 5,800 ¢ ; 3ifas ¥+ %. 6,000 ¥ ; af FF A dF 9 3.
gl |

A. 80,500 B. 74,900

C. 74,700 D. 80,900

Q59. Fixed assets are double the current assets and half the capital. The current assets are
Rs. 3,00,000 and investments are Rs. 4,00,000. Then the current liabilities recorded in
balance sheet will be

A. 2,00,000 B. 1,00,000

C. 3,00,000 D. 4,00,000

Q59. e aRwufeaar, are aRuafeaat Hr Qe 3t Gt & ameh § | = wRwafeaat 5. 3,00,000 ¢ 3ikw Wder
¥. 4,00,000 | & JaT-u9 # gof HT JTA AT =TS FIAT . g |

A. 2,00,000 B. 1,00,000

C. 3,00,000 D. 4,00,000

Q60. Mr. A sold goods for Rs.50,000 which includes a sale to a customer for Rs.5,500 at a
cost + 10%, but these goods were still in godown at the risk of buyer. The total sales to be
recorded is

A. Rs.50,000 B. Rs.50,500
C. Rs.49,450 D. Rs.49,400

Q60. AT A 7 5. 50,000 FT AT ST [STHH TF AEF F oF¥d + 10% #A F. 5,500 & I<7 14T ATl MAA &,
AP T AT T ofY Frar A N T A # W@ ¥ | S AT T aren For @ e |

A. %.50,000 B. ¥.50,500

C. %.49,450 D. ¥.49,400

Q61. The statutory auditor of a Government Company submits his report to

A. the BODs of the company B. the Legislature

C. the C & AG D. the company secretary
Q61. T TIHRY U« FT FfAAF ar@r gdar 9= e AT FATR |
A. YT & fieere Hsel B. faene Fse

C. dr. ts T.am. D. &Ysi "fdq
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Q62. Audit of transaction does not include -

A. Propriety audit B. Efficiency - cum performance audit
C. Audit of receipts D. Audit of expenditure

Q62. AeT-eT FY AW et ¥ g AT ¥ ghar ¥ -

A. FaTffcd or@r qeT B. G&TdT-Hg- 1 fosuree orr qdat

C. rfeqar r or@r gdem D. eI &I oi@r wiam

Q63. Which of the following report will not result in qualification of the auditor's opinion
due to a scope limitation?

A. Restrictions the client imposed B. Reliance on the report of other auditor

C. Inability to obtain sufficient appropriate D. Inadequacy of accounting records
evidential matter

Q63. A ¥ Fi W RNE FrdaT F FAT & FROT AWT TherF & IR i Aegar & gRonfaa A aefe?
A. I arT AR gfdeer B. 3/ oi@r WIeTsh FI Raie ) fagaa
C. gied T Qe Gaell faser e et & 3raaAdar D, o@r feerd! v 3roiedar

Q64. The auditor of a Government company is appointed by the C & AG. His remuneration is
fixed by

A. the C & AG B. the shareholders at an annual general meeting

C. the shareholders D. the board of directors

Q64. WHFR F9it & @ wdarw 1 AgfFa @, vz .. qarT A At ¥ | 3o aRAfAE ganr a7 famar
e |

A. O TS TS, B. aIi¥e ATHTT do& # RIS
C. RS D. faeers #Hser

Q65. Which of the following Auditing Assurance Standard deals with Audit Planning?

A. AAS 7 B. AAS 8
C. AAS 9 D. AAS 3
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Q65. 37H T FiT HY AWT T&TT ITRATHA ATAF @1 G FT FofelT & Fa o 82
A.T.U.Uqg. 7 B. T.T.TH. 8

C.tuwyg. 9 D. T.v.Uy. 3

Q66. Which of the following best describes the primary purpose of audit programme
preparation?

A. To detect errors or fraud B. To comply with GAAP

C. To gather sufficient appropriate evidence D. To assess audit risk

Q66. 3 ¥ Fi AT RFeT a@T g FTIHA H AN FT MURAF 3327 F) Wafeaw & & afota Fwar 82

A. T AT HYCYUT HIFT I TAT ST B. SI.T.T. A, &7 3e]dTelel Hlal
C. UiTd 3UgFd AIeT s el D. @ qieT S&H T Hedlehal Hiall

Q67. Which of the following factors would least likely affect the quantity and content of an
auditor's working papers?

A. The assessed level of control risk B. The possibility of peer review

C. The nature of auditor's report D. The content of management representation
letter

Q67. 31 ¥ FidT UT FRF AWT TNETF & HTHBTS SEATAST T FATAT 3 AU Y A FA g1fAaT HIm?

A. frEoT SfEH &7 Aedifed TR B. TXE AR 9 FHIET hr Heqraar

C. o uliefeh T REE T gepfel D. YetreT o 378gTdeeT I T FHA

Q68. The nature, timing and extent of substantive procedures is related to assessed level of
control risk

A. randomly B. disproportionately

C. directly D. inversely

Q68. Fifaw wframsit # v, Fwg-fruior sk der P fEw & geifra Fa @ wafla R |
A. FEod &9 & B. @A &7 &

C. 9cael §9 & D. FoshfAd & &
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Q69. Which of the following is likely to be classified as a direct material cost of a motor car
wheel?

A. The metal used to manufacture it. B. The metal used to manufacture one of the tools
used in the car wheel factory.

C. The cost of operating the raw material stores in D. The cost of the quality operation on the

the factory. finished car wheaels.

Q69. AT FR F UfRT Y Foat AL arTd Y 3o F Frwrat Faffpa frar Srar wonfaa 22

A. 38 Sellel H TgF U1 | B. ®R 9fgaT ®RE & Fged Ueh 3R & fAaior &
T g |

C. FRU H FHTd ATl & $SR FI TAIId FA T o D. IR R 9t TR IJ[OTAT el T AT |
|

Q70. The first in, first out method of pricing raw material issues, exhibits which one of the
following features?

A. The issue price is recalculated each time new B. The issue price is always at the latest price.
deliveries are made into stock.

C. The goods are always issued strictly in the D. The issue price is always at the earliest price.
physical order in which they are received.

Q70. F= AT & 3G & H1Ad fAuRor i vre-ga1, FEe-3m3e RAfYr g3 @ Fior W Fdwar aaered 82

A. 9% IR ST Teieh H 7S GUEIN gielt §, S HAT HT B, 53 HHAT §AAT AdATH HIAT Gl & |
o1 aREolet R ST § |

C. #Arel T gl g & 3¢ sitfien vy & ST fovam D. 39 A gHAT Fod Ygol T H#AT giell & |
ST & Tores 3¢ ared fhar arn g o

Q71. Which of the following is not a method of pricing raw material issued from stock?

A. Standard costing B. Unit cost

C. Marginal cost D. Continuous weighted average
Q71. sd ¥ Fiar 1 A weiF & I F=2 A H FAg RuRT N RO &R 2

A. AR FTeTd-foreiRoT B. 3F1$ oW1

C. ATfoieTel AT D. faer anRa 3itwa
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Q72. Which of the following is a direct labour cost?
A. Supervisors' salaries in the factory. B. Costs of the payroll accounting section.

C. A bonus paid to the store man. D. The wages of an operative paid on the basis of
output achieved.

Q72. 3 ¥ FieT AT YT HA AT §?
A. FREA H qAdeTH FI dcfeT | B. dceIEY oI G 3Tef8iTeT Y ST |
C. TR #< I fem 7 s | D. 9Ied 3T3eYE & TR WX JATAReX I ferm Ir2m ek |

Q73. Production overheads are absorbed into production units by the use of an overhead
absorption rate. Which one of the following best describes how the absorption rate is
calculated?

A. Total number of units produced divided by the  B. Total number of units produced multiplied by
total cost centre overheads. the unit overhead cost.

C. Total cost centre overheads divided by the cost D. Total indirect costs for the business divided by
centre activity level. the total number of units produced.

Q73.m*;@wﬁﬁwsﬁmmﬁwammmgmﬁmﬁmmﬁmm%
| ITTRANYUT &I T IRF HA FFAT ATAT &, SHFT IUI 5T & HieT AT AFew Fafead o7 @ Far 22

A. AT gehrgal ST o TEIT T ol AT Fhoy B. fATH SHhTSET i ool HEAT HT SIS FUNTY AT &
STl & #19T S| IO |

C. el AN dhog FUATAN B AEI dhogs B ER T D. FRIER & T el G067 o7l 1 ATHT geprsat dr
HTIT | Fol HEAT W 1T H |

Q74. XYZ Ltd has a labour intensive assembly department. Which of the following methods
of absorbing overheads is likely to be used for that department?

A. Direct labour hours method B. Direct labour cost method

C. Direct material cost method D. A percentage of prime cost

Q74. XYZ fAffies & 43 g 3A+ael AR ¥ 39 fFsmr & AT Fudleaal w1 3r@nyor #a & o o8 d 7
fafer &1 yAer R SIer Y FerTaer 82

A. 9T HF guer A B. WcgeT 817 oIeTd [afer
C. ycgeT @l wrerd fafer D. HeT of1aTe shr wfderear
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Q75. If unexpired insurance appears in the trial balance, it is shown on the :-

A. Asset side of the balance sheet

C. Note under the balance sheet

B. Liability side of the balance sheet

D. Trial balance

Q75. I AY qfietor & rwATed AT FATAT FATAT § Y X TgT @A STwan -

A. JefeT-g & aReafed a7 &
C. qoiT-99 & e feoqolt & &9 #

B. oieT-U o &Il qaT #

D. Y gdreyor

Q76. Which of the following is not an essential feature of a budget?

A. There is a clearly defined budget period.

C. It permits managers flexibility in terms of the
policies that should be pursued to meet corporate
objectives.

B. It is a combination of financial and non-
financial data set by reference to key budget
assumptions.

D. It has been formally approved and accepted as
realistic by managers.

Q76. 38 ¥ FiT AT AweT Ioie A T TS FLyar g1 82

A. T §9 § gRIATNT Foic 3@ gldr g |

C. I 3o At & TRYET H Jaerehl T e 3ead
FIAT & TIeTehT UTelel SIaRe 38247 T 9Ted et & folw
T Sre @Il |

Q77. A master budget comprises -

A. A budgeted balance sheet

C. A budgeted balance sheet, profit and loss
account and cash flow statement

Q77. AR T Har ¢ -
A. SStfed Jofel-a

C. e JoleT-ud, A1 d g1fer @relm 3R ¥Ry e
aror
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B. ¥ faccha qur IR-facciar stiest 1 Faer § S 9@
ST AT & Heet gant fAuiRa fre o € 1

D. 38 Yayeh! ¢arT IUrd & # Hqaie alis &
IR 3R TR fohar s § |

B. A budgeted balance sheet and profit and loss
account

D. A budgeted balance sheet, profit and loss
account, cash flow statement based upon
coordinated departmental operating budgets

B. Soifed Jofel-U= Td o187 g gIfel Wrelm

D. gAfrad TTHRIT Jarae=i soiel & TR &R Seifed
AT, TS F gIfed W, aFehe Tifee faazor
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Q78. A flexible budget is -

A. One where departmental functional managers B. One where the budget is permitted to alter to
are given discretion over the application of reflect changes in activity levels.
spending limits.

C. One where managers are given discretion as to D. One which allows departmental managers to

the investigations which are carried out into design their own budgetary control reports.
variances revealed by budgetary control reports.

Q78. dueR I9¢ § -

A. foreet faemaier srdelier saeren! sl @d et i At B. ST6T Sddhardl & Fo’i # IRade g2l g FUR et
& JeoriteT R fademfReR feam ST ¥ | T AT BN & |

C. T8l TSI Pl VH STT-ISdTel et HT [AARIADR D. Torae Tasmeli Yeerehl &l Ig 3rTATd &1 STl & 7o
fe=m Srar § Niee sorery o1 Rutet gant aird aRadear  3melt goréiar faa=or RO &1 3iffewed dar &7 86 |
AT srar g |

Q79. In a manufacturing company, which of the budgets will normally be prepared first in
the budget preparation cycle?

A. The stock budget B. The production budget

C. The cash flow forecast D. The sales budget

Q79. T AN FusAt &, goiec A IF F AHIG: FE TR FT g9/ Ta@ Uga IR Fr Smeen?
A. Tl S9ic B. 3cUigel Saic

C. FRT HTiee T FaTeTATeT D. AT dolc

Q80. The administration of the budget process in a large organization is normally the
responsibility of:

A. The board of directors B. The audit committee

C. The chief executive D. A budget committee working in conjunction
with the finance function

Q80. T2 IS H To¢ AR F A YIFAT AT S FFAey e @ -

A. fAces Fse B. or@r e afafa
C. #ET HAUTS D. e &1 & 1Y SRR goic afAfa
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Q81. Which of the following statements is valid?

A. The Budget Committee should set the budgets B. Cost centre managers should prepare their own

for cost centre managers. budgets.
C. Management accountants should prepare D. Senior management should prepare cost centre
budgets for cost centre managers. budgets.

Q81. 3N ¥ &l AT Fya ey §?

A. golc GfAfa &) IRTT Feg Y & fOT goe o B. ST sheg o JELehT sl 3eTeh 3Tl Tolc dI dlel
FT TR | MY |

C. Y% JWIhRT ! AT dheg, & TRl & ol goic D. aR™a YT I dRTT Fhog Tolc IR FIET AR |
TRIR &TAT AT |

Q82. A standard cost which will be most useful for control purposes is one which:

A. Contains no allowances for normal losses or B. Is set in advance of the control period and
other forms of wastage. which then remains unchanged.

C. Contains a reasonable degree of allowances for D. Managers are expected to achieve at all times.
operating inefficiencies.

Q82. AH anTd Y I F yASTd watfrew 3gAieh gem, ag & Swsd /o -

A. FTEROT g AT 3T YR & JURISer & v g B. =01 3raf®r & 33 & a¥ fFar sar g ik &
HedT QAT e g | RGfId T T ¥ |

C. JeTe=g HETHAAIHT & fIT FHFIT AT & ofcd MAT D Teerehl A GHAT gTHA Fal T Y& T ST & |
e |

Q83. Direct material total variances can be analyzed into:

A. Efficiency and price variances B. Price and productivity variances
C. Price and usage variances D. Efficiency and usage variances
Q83. Wt Wt Fer Rae 1 favarwor gwe far 91 wFar ¢ -

A. G&TaT Td drAd aiad B. $IAd TF 3curgehar IRad

C. FAd g 39T aRad D. G&TdT U9 39T gRad
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Q84. Where the entire block of the depreciable asset is transferred after 36 months, there
will be:

A. Short-term capital gain B. Long-term capital gain

C. Short-term capital gain or loss D. Long-term capital gain or loss
Q84. STEl HeaF-Aey TREUTed & FFYUl st H1 36 AL & ae AR T siar ¥, Tg -
A. 3eqehTellel Gait wifser grem B. &refepteltet dait wifser grom

C. 3rearelT $ot afexr ar g gem D. EfTeieT o wife i gifer g

Q85. If good will of a profession which is self generated is transferred, there will:

A. Be capital gain B. Not be any capital gain
C. Be a short-term capital gain D. Be long term capital gain
Q85. I vw ¥ A Tfey S T Yo iy 71§ ¢, Ak Hr I g, a -

A. olTer e g B. % YohoTe e wigt gl
C. 37eqarelleT Yail afstr grafy D. &reranrelst Joft aifekr grafy

Q86. Exemption under section 54 is available to:
A. All assessees B. Individuals only

C. Individual + HUF. D. Indian Company
Q86. URT 54 & T8 B€ 5+ WI°d § -

A. T freiRelr B. &ao safad

C. afdd + Ta.g,T%. D. R Foar

Q87. Loss from a speculation business of a particular year can be set off in the same year
from:

A. Profit and gains from any business B. Profit and gains from any business other than
speculation business

C. Income of speculation business D. Income from other source

Q87. it fadw faeRor ¥ F wer FRIER & ¢ arfar A 33 feRor af # frafaf@a & gt s awary -

A. faeT off FRISR & ot Ta afsyr B. HET FRIER &I Siga fhdl #ff SRITR @ o1e vd affser

C. 93T $RISR § I D. 3= | & 3
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Q88. Education cess is leviable in case of -
A. An individual and HUF

C. All assessees

Q88. AT 39F 37 AHS # ITA-ATT T § -

A. IfFd T T3, UG

C. el foreiRelr

Q89. A country is said to be in debt if :

A. It has to abide by the conditionalities imposed
by the international monetary fund.

C. It has been refused loans or aid by creditors
abroad.

Q89. TH A FI IURITT gl AT § I :

A. 38 IFRTET 3T AR garr sifoRifRa erdf &
qTelel AT 95T & |

B. A company assessee only

D. Not taxable

B. shad &uar UTRdr
D. & AT gt

B. It has to borrow to make interest payments on
outstanding loans.

D. The World Bank charges a very high rate of
interest on outstanding as well as new loans.

B.ﬁwﬁwmwwméﬁfwm
oA USAT © |

C. 39 Tacer RUd deIgRT g@RT HoT A1 A& TIAT ¢t D. f32d s 7T Fuil & ATY-ATY FHAT AR ) AT 6T

T ISR T = g |

T T TR T & |

Q90. Which one of the following is responsible for the preparation and presentation of

Union Budget to the Parliament?
A. Department of Revenue

C. Department of Financial Services

B. Department of Economic Affairs

D. Department of Expenditure

Q90. THE FI FAIT FAC IR FA AN 38 TFqd F& & AT 373t § Fler Seaerh 2

A. TroTEg fasmeT
C. [acdrar dar fqemer

B. 3nf¥e &RT [gsmer
D. = fa#mer

Q91. Which one of the following statements is an appropriate description of deflation?

A. It is a sudden fall in the value of a currency
against other currencies.

C. It is a persistent fall in the general price level
of goods and services.
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B. It is a persistent recession in both the financial
and real sectors of the economy.

D. It is a fall in the rate of inflation over a period
of time.
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Q91. 3AH ¥ FiT AT FUA aThIfY A 3T AEAT FIATE ?

A. TE 3T FEIHT & THET T & Hed H 3hTAR B. I8 31¥-cyaedr & facdiy 3R areafas ekt arar 7
e § | R #T |

C. Ig ATl 3R a3t F FrHT HAd TR & TR D. Ig FAIETY & Ferehif T & & FREe ¢ |
REe & |

Q92. A great deal of Foreign Direct Investment (FDI) to India comes from Mauritius than
from many major and mature economies like UK and France. Why?

A. India has double taxation avoidance agreement B. India has preference for certain countries as

with Mauritius. regards receiving FDI.

C. Most citizens of Mauritius have ethnic identity D. Impending dangers of global climatic change

with India so they feel secure to invest in India. prompt Mauritius to make huge investments in
India.

Q92. A # rcafts el yewer fder (vh.313ns.) .. 3R wiw S s o aur aRusq srd-sgawgnit
Y et H AR AR &er ganr fmar siman @, F4i?

A. $TRC T ARI o TTY Gl HIUT AR SR G | B. TH.Z13MTS. YT el oh HGY H Rl H Foeh ST b
ary grafAsar AuiRa § |

C. AN & TR ARG H ART & WY AEFfae  D. dRas sTeary aRads & 3m8e TRl o AR #
Y &, SATIT d R A e et AT FASTA 8 | R # o3 A il & fIT FeiX &= |

Q93. The reduction in Personal Disposable Income which results from tax rates not being
adjusted for inflation. It is termed as:

A. Fiscal Illusion B. Fiscal Crisis

C. Fiscal Drag D. Fiscal Rectitude

Q93. st ST et A7 3 # Fekeh Y AEERfY & fre FARASI o fFe v R F TRenfAa @ ¥, 3 Fa
ST ¥ -

A. e a7 B. f@cd e
C. facdT s¥ur D. e sATACY

Q94. Open Market Operations of RBI relates to:
A. Bank rate proposed for public deposits B. Bank rates proposed for commercial banks

C. Government reserves D. Government Securities
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Q94. HR.A.3E. ¥ A AR & TaTeT FHA Hafea & -

A. GrdSTiaies STAT3T & foT gearfad S gt
C. THRT JIRET0T

B. arftifoges d&t & faw gyearfaa d gt
D. &K yfasforar

Q95. Which one of the following is not permissible under India's current account

convertibility?
A. Residents holding foreign exchange accounts.

C. Exports holding foreign currency accounts.

B. Foreigners holding accounts in Indian banks.

D. Free movements of short term capital.

Q95. HRA F T FTAT IRATAIAT & T6 594 @ rwehr Tfawrdar ¢t §2

A. e St fagel fafaaa @rd arRa axa § |
C. foraTer srgt faeet #er @rat € |

B. fagelt fSereh R dhf A @i & |
D. 3feqehreliel YSil T Herdl HeloleT |

Q96. Which one of the following is generally regarded as true index of economic growth?

A. An increase in National Income at constant
prices during a year.

C. An increase in National Income at current
prices over time.

B. A sustained increase in real per-capita income.

D. An increase in National Income along with
increase in population.

Q96. sad ¥ fFd wwTTa: e RFma F1 Foar Fawiw AT AT §?

A. I & gR1eT 2R AT IR TSI AT H Foica |

B. aredfas ufd safea 3 & fAdgag seica’y |

C. AT & GRIT IdATT HIAdr W IASET 37T H Folcd] D, TATEAT H Folcay o ATL-ATY TS 3T H Folcar

Q97. Which of the following is correctly matched?

A. M1 and M2 - Broad Money

C. M3 - Least commonly used measure of money
supply

Q97. 34# ¥ 5y RAdeq #1 waw AT &2
A. TtH.1 3R TH.2 - IUs uT

C. UA.3 - 4l gfct &7 HTH AR W HA SEIATS 6T S
arel 39T

September 15, 2017

B. M3 and M4 - Narrow Money

D. M4 - Least liquid of all the money measures

B. TH.3 3R tH.4 - GhoT a4
D. TH.4 - 97 gatll g3 3urai 1 o A aleldn
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Q98. Depreciation accounting other than natural resources, wasting assets, expenditure on
research & development, goodwill and livestock; is dealt by which among the following
Accounting Standards (AS)?

A.AS 6 B. AS 12
C. AS 15 D.AS 9

Q98. T fas FHTHAT F IHATET HeAerH FT d@iHa, IRFUTcadl FT gouaNT, IHHeTT va fFFma W =13, gawr v
weper; 3 @ R dET Ao (v.ew) § wEfta g ?

A TTHG6 B.twH 12
c.TtuHa 15 D.TtT# 9

Q99. The alternative that would decrease the contribution margin per unit at the most is a
20%

A. decrease in selling price B. increase in variable costs

C. increase in selling price D. decrease in variable costs
Q99. ey St 3ivrer Aol wfa afere # ftrw ¥ flrw w1 Fam, 20% T
A. T Hoa 7 HaT B. gRad ameret # gig

C. fsrar 7w 3% D. afadf amerelt #F e

Q100. Which of the following is an important dynamic variable?

A. Superior's style and behaviour B. Organisational nature
C. The task structure D. Cultural variables
Q100. 377 & FT &1 AFeq va FHgcayet arferefier aRad 82

A. 3TenfasmRar @ el 3K sgagr B. HITSHTcHS HEDT

C. & EGeAT D. |iEhich qRad
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